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et 1,000
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8. PR KRR

Bl $15, 000
et e Bl ( I 381 r ) 10, 000
M A ( X D B Lff) 4, 000

w LU L (direct method) WM "BIGH R4, (256)
Iy -

On Jaunary 3, 19A, XYZ Company purchased a machine that
cost §15,000. Althought the machine has an cstimated
uesful life of 10 years and estimated residual value of
$3,000, it was debited to expense when acquired. It is now
December 19D, and the error has been discover, The average
income tax rate is 25%, and straight-line depreciation is
used.

Require:

I.Give the cniry to correci the accounis at the end of
19Dassumingthe books have not yet been closed for 19D. Also
give the adjusiing entry for depreciation for 18D, The
income tax rciurn was correct and there was no deferred
incomc tax rclated to this transaction.

2. Assume insicad that the income tax return also was
incorrect because of this error; thercfore, additional
incomc iax musi be paid, including a 10% penalty for cach
ycar an amount of tax was underpaid, less 10% each year on
any amouni of tax that was overpaid. Givethe entry to

correct ihe accounts, including the income iax effects, at



the end of 19d, and the adjusting eniry for depreciation for
19d. Round amounis io ihe nearesti dollar. (25%7)
A ST R
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- B PIRE BRI
(1) EfGOE %L WEAFE  A— T2 -
(2) FEfCOE—51 - EEF—ET -
(10%)
= . FEARERD BN NMETEE RS EAE - (10%)
=8B ) y-JeFr @y -x (10%)

/g - B4 0 (1) § InX dx
(2) S:' e X dx

(3) § cos X dx

(4) § E"E}zdx (20%)
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Hop g XEUE - ty ¢ VIR - O xR - Oy : YKL -
R B -
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1
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PEHER L EEERAGEAOTWRRERER - THRELET -
(2541)
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i R R AR R ANMA SR A - (254)
#IET - BT IPRB SR

- METASLE (BAEENS)

(1) Horizontal equity ( KFLT)
(2)Pigouvian iax
(3)Corlett-Nague rule

Y - S TIEREE (AN )

SALL MY ES @5 BTk (General Equilibrium Analysis) * L6t
HEYH (sclective cxcise tax)Bl -BEER (AFENFES -
AIBATIFMER) Wﬁﬁﬂﬂﬂﬂ?ﬂ ? H3Ebr -

B2
— - FEE G R L AR S S TR - TR TG

[
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2B AWEEE (risk aversion)BIRIEFE » MFSER RS
HITER? (5%)

3. SLEER R B % (Y i p by - 42 T SR I S B R =
BUNSHRH BB QBT - (10%)

A, RS RO 0l 2 B 8 W B Y SR D - R TR
HERBA (51) a3 B FNE - AT E & (3)H
FIRE - (5%)
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LARHEEEENERE R ARE - (10%)
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3. ﬁmvm?ﬁﬂ}ﬁ"ﬁmmﬁ‘(pﬂ?ﬁ Yp BHYMHSEE - L0,
thwmm-MHﬁ“ﬁméﬁﬁ%ﬂﬁ$£&ﬁ-MEmﬁ
B K ERE R TR S 7 (5%)

A B R EE SO Hse 2 B P e P AR -

(5% )
= . EfrHEMEIE THIRE . (=)
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(=) HEE Y ELTPIE (Nes-Keynesian) F 31 5 SR (Nes
classical ) — W ERAFAEN?
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M. (—) fTABK R RRH L (Covernnent Budget Cnstraint) ?
R WETEH BER AR BECRE R L TR EE
#&7 (+Wm)
(=) W Fa&ERE: O88)
a. J &% R (J-Carve phenomcnon)
b, B TTH 7 f 38 (Parchasing-power-parity iheory)
c. MY A F (Stractnral deficit)
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194 $100,000 § 550(184)

19B 250,000 1,500(19A);%1, 000(198B) $300C194)
19C 300,000  500(19A); 4,000(19B);$1,300(19C)  B50(19B)
19D 325,000 1,200(19B); 4,500(19C); 1,500(19D)  500(19C)
19E 275,000 2,700(19C); 5,000(19D); 1,400(19E)} 600(19D)
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